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I v mwn: status of 2 o7 written in parallel with bi-directional o1y
a  If:2 pv are written side-by-side with 2 Hebrew (R->L) 01 beneath one and 2 Greek (L->R) o1y beneath the other
i Then: whichever ones are “read with” (defined below) the first set is valid
1 Question: why isn’t each one 13, the R with his name and L with patronym+”7p”?
(a) Per: n:o pon (below) — ja+patronym+1y is sufficient
(b) Answer: if he wrote his name and “12” on the R and patronym and 7y on the L
(i) Challenge: L should be valid with patronym+7y alone (as if father were the 1y, per n:v)
(c) Answerl: if he only wrote patronym w/o "1”
(d) Answer2: even if he wrote “1”, but we know the signature is not his father’s
(i) Challenge: perhaps he’s using his father’s name to sign
(ii) Block: no one does that
1. Challenge: perhaps he’s using it as a logo? (per examples of DIRMINR)
2. Answer: no one would disrespect his father to use his name as a logo
2 Question: why isn’t each v valid; one with the H 07y and the other with the G or1y?
(a) Per: n:v (below) — a vy and/or witnesses may be in either language
(b) Proposal: since there is a break of 2 lines (where the H o1y are signed), invalid
(c) Block: wpn - if the space between the bottom of the 70w and the 07y were filled in with wrayp - valid
3 Answer: »yv’s version of our mwn is that both are valid
4 Our version: is explained as a concern that the G o771y signed in H direction (all are signed on 15t v3)
b If: the o"1y are staggered (H, G, H, G) both are invalid
i Challenge: why isn’t each one valid with 1H and 1G (per niawn below)
1 Answer: »1yt’s version of our nwn is that both are valid
2 Our version: is explained as a concern that the G o1y signed in H direction (all are signed on 1st v)
II v mwn: vi on multiple pages; multiple 0’3 on one page
a  If: he omitted some of the v) and completed it on a second page and the o1y are below — it is valid
i Challenge: why aren’t we concerned that these are 2 v (side-by-side) and the jnt of the 1t was parallel to the
7Y of the 2" and he cut out the 11 of the 27 and the oy of the 152
1 Answer (17):if there is a space at the bottom (of the 1% page)
2 Challenge: perhaps the a1 of the 274 was cut out?
(a) Answer: same answer from 19 as above (if there is a space at the bottom)
3 Challenge: why aren’t we concerned that he rued the v3, then re-committed to divorce and completed it
(a) In which case: the section on the first page would be invalid
(b) Answer: if the line DR 53% N MmN NR »n was cut so that part was on the bottom of #1 and part atop #2
(i) Challenge: perhaps that’s exactly how it played out
(ii) Answer: we aren’t concerned to that extent
4 Answer (to entire course of inquiry): "R "1 — if we recognize that this is indeed the original bottom of the 95p
b  If: however, the by signed on top of the new page, on the side or on the back (in case of VIwa v3) —invalid
i Challenge: 17 would sign sideways
ii  Answerl: in that case, the top of the signature faced the 90w (obviously referencing 1vv)
1 Challenge: in next clause, if 071y are between two “tops” —both invalid
(a) However: why don’t we see to which text the o1y are “pointed”?
(b) Answer: in that case (the nwn), they signed vertically, not matching with either va
(i) Challenge: if so, the next clause (allowing validity of 1 v3) doesn’t stand to reason
iii Answer2: 27 would sign sideways when signing letters or na%n ’poa — not mAow
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¢ If: 2 poy are written upside-down of each other
i If: o*y signed between the tops (they were written “away” from each other) - both invalid
ii  If oy signed between the bottoms (written “facing” each other) —valid for va with which they correspond
iii  If: o7y signed between 2 pv» written in the same direction — only valid for va w/which they correspond (upper)
II 1n mwn: Parameters of signatures of o7y
a  Language: if the v is in Hebrew and the witnesses in Greek or vice-versa, or 1 »12 7» and one Greek witness — valid
i If: the 900 wrote it along with an 7y — valid
1 /»p7 7. the proper reading is 7 91970 onn (i.e. one of the 2 o1y is the 190)
(a) Per:»ov " (since mHYwY 11000 RY *9'n, the husband must have directed it 2990 is intended 7y)
2 Story: nan3 was brought before 1ar ", only 1 1y was recognized
(a) Ruling: ynar 1 thought to validate based on "1 9910 any” (i.e. 1 7y only)
(b) Correction (777072 *3): our nawn should be read 7 9970 pnn (i.e. 2 01y are needed — but 1 may be 71910)
ii ~ Signatures: P 1y, Q's son 1», P who is Q’s son (w/o “1»”) — valid (practice of fastidious ones in n-?)
b Names (of parties): if he wrote his or her nickname — valid
i a7 ancestral names or nicknames are valid 10 generations back; 8”aw1 — only 3 generations back
1 Support:v.1-1o2122) D02
2 Aggadic excursus: relating to multiple generations
(a) 572>7.0"8 was only destroyed after 7 dynasties were engaged in 1"y
(i) Dynasties: yvIn ,0mmn ,Npa R Ny RWPI DY
(ii) Per: v.2; or v.1 (T5n: 1; 0na: +2 (3); 111 +2 (5); 011 +2 (7)
(b) Question posed to 27 v. 3 indicates that no& 12 yvin was less guilty — why did 77wr conquer then?
(i) Answer: he removed roadblocks that nyay set up and nonetheless, »1a did not make 5315 05y
(c) p712:v. 4 is odd; interpretation — ’n was charitable with us in our exile
(i) 229> mbx the exile of the “artisans” (n3onm wInn) (aggadically interpreted as scholars)
(ii) a5 based on v. 1, the exile was 2 years before nniwm (to prevent completed eradication of the
people as threatened in that nw9)
1. Observation (377 72 8nx ") the “speedily” of 'n (v6) is 852 years
a. From: from entering the Land until 173> m>
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